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;Qué numero hay en cada regalo?
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QQUE HAY €D L REGALO? (J) RESPUESTAS

;Qué numero hay en cada regalo?

3 x 4 = 12 3 x 10 =] 30 9 x 6 = 54
7 x 10 = 70 7 x 9 = 63 8 x 7 = 56
9 x 8 = 72 9 x 10 =| 90 4 x 2 = 8
10 x 7 = 70 2 x 3 = 6 2 x 2 = 4
6 x 1 = 6 8 x 8 = 64 9 x 1 = 9
8 x 3 = 24 1 x| 10 = 10 7 x 3 = 21
9 x 2 |= 18 4 x| 5 = 20 5 x 6 |= 30
4 x| 5 = 20 10 x| 1 = 10 7 x 1 = 7
9 x| 6 |= 54 1 x 9 |= 9 4 x| 3 |= 12
8 x 7 |= 56 10 x| 1 = 10 8 x| 6 |= 48
3 x 2 = 6 1 x 9 =9 5 |x 10 = 50
1 x 2 = 2 3 x 1 = 3 2 |x 1 = 2
9 |x 2 = 18 5 x 1 = 5 7 x 2 = 14
9 |x 2 = 18 2 |x 5 = 10 7 |x 4 = 28
1 x 9 = 9 8 |x 3 = 24 3 x 6 = 18
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